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GL�60$�1HJHUL���3DGDQJ

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN ����0HQJHWDKXL� VLNDS�� SHQJHWDKXDQ� SHVHUWD�
GLGLN� WHQWDQJ� ZDZDVDQ� *HRJUDILV� GDQ� NHWHUDPSLODQ� SHVHUWD� GLGLN� OLQWDV� PLQDW�
*HRJUDIL�GL�60$�1HJHUL���3DGDQJ��GDQ�����0HQGHVNULSVLNDQ�SURVHV�SHODNVDQDDQ�
SHPEHODMDUDQ�OLQWDV�PLQDW�JHRJUDIL�GL�60$�1HJHUL���3DGDQJ�

-HQLV�SHQHOLWLDQ�LQL�DGDODK�SHQHOLWLDQ�GHVNULSWLI�NXDQWLWDWLI��3RSXODVL�GDODP�
SHQHOLWLDQ�LQL�WHUGLUL�GDUL VHOXUXK�SHVHUWD�GLGLN�OLQWDV�PLQDW�JHRJUDIL�GL�60$�1���
3DGDQJ�� 3HQJDPELODQ� VDPSHO GHQJDQ� PHQJJXQDNDQ� SXUSRVLYH� VDPSOLQJ GDQ�
VDPSHOQ\D� DGD� VHOXUXK� SHVHUWD� GLGLN� NHODV� ;,� 0,3$� ��� 7HNQLN� DQDOLVLV� \DQJ�
GLJXQDNDQ� \DLWX� KDVLO� WHV� \DQJ� GLRODK� GHQJDQ� EHUGDVDUNDQ� 3$3� GDQ�ZDZDQFDUD�
GLRODK�GHQJDQ�UHGXNVL��GLVSOD\�GDQ�NHVLPSXODQ�

3HQHOLWLDQ� LQL�PHQHPXNDQ� EDKZD�� ����5DWD�UDWD� QLODL� VLNDS� SHVHUWD� GLGLN�
OLQWDV�PLQDW�*HRJDUIL�GL�60$�1���3DGDQJ�DGDODK�������\DQJ�PHQXQMXNDQ�SDGD�
NDWHJRUL�EDLN��XQWXN�SHQJHWDKXDQ�SHVHUWD�GLGLN�OLQWDV�PLQDW�*HRJUDIL�EHUDGD�SDGD�
NDWHJRUL� KDPSLU� FXNXS� GHQJDQ� QLODL� UDWD�UDWD� ��� \DQJ� WHUPDVXN� SDGD� WLQJNDW�
SHQJXDVDDQ�PDWHUL����������5DWD�UDWD�SHQLODLDQ�NHWHUDPSLODQ�SHVHUWD�GLGLN�OLQWDV�
PLQDW� *HRJUDIL� \DLWX� ������ EHUDGD� SDGD� NDWHJRUL� DPDW� EDLN� ���� 3URVHV�
SHPEHODMDUDQ� SDGD� NHODV� OLQWDV� PLQDW� JHRJUDIL� \DQJ� SDOLQJ� PHPSHQJDUXKL�
GLGDODPQ\D� DGDODK� SHODNVDQDDQ� GDQ� SHQ\DMLDQ� PDWHUL� SHPEHODMDUDQ� ROHK� JXUX�
VHUWD�PHWRGH�\DQJ�GLJXQDNDQ�JXUX�GDODP�PHQJDMDU��*XUX�EHOXP�PDNVLPDO�GDODP�
PHPLOLK� GDQ� PHQJJXQDNDQ� PHWRGH� SHPEHODMDUDQ� NDUHQD� JXUX� KDQ\D�
PHQJJXQDNDQ�PHWRGH�GLVNXVL��\DQJ�PHQJDNLEDWNDQ�SHVHUWD�GLGLN�ERVDQ�GDQ�WLGDN�
DNWLI�GDODP�EHODMDU�
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